
76717671.576727672.576737673.576747674.57675
cyclenum

0.126

0.127

0.128

0.129

0.13

0.131

al
ph

a1
3_

4e
X

1X

alpha13_4eX1X:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

1

2

3

4

5

6

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0.4−

0.39−

0.38−

0.37−

0.36−

0.35−

0.34−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7007}



76717671.576727672.576737673.576747674.57675
cyclenum

140−

120−

100−

80−

60−

40−

20−

0

us
l_

1X
usl_1X:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

2.5−

2−

1.5−

1−

0.5−

0

us
l_

4a
Y

usl_4aY:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

10

20

30

40

50

60

70

us
l_

4e
X

usl_4eX:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

5

10

15

20

25

us
l_

4e
Y

usl_4eY:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

45−

40−

35−

30−

25−

20−

15−

10−

5−

0

us
l_

12
X

usl_12X:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}



76717671.576727672.576737673.576747674.57675
cyclenum

160−

140−

120−

100−

80−

60−

40−

20−

0

us
r_

1X
usr_1X:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0.4−

0.3−

0.2−

0.1−

0

0.1

0.2

0.3

0.4

us
r_

4a
Y

usr_4aY:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

20

40

60

80

100

120

140

160

180

200

220

us
r_

4e
X

usr_4eX:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

2

4

6

8

10

12

14

16

18

us
r_

4e
Y

usr_4eY:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

40−

35−

30−

25−

20−

15−

10−

5−

0

us
r_

12
X

usr_12X:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}



76717671.576727672.576737673.576747674.57675
cyclenum

34800

35000

35200

35400

35600

35800

us
l_

co
il1

usl_coil1:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

6960

6980

7000

7020

7040

7060

7080

7100

7120

7140

us
l_

co
il3

usl_coil3:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

1000

2000

3000

4000

5000

us
l_

co
il4

usl_coil4:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

1250−

1200−

1150−

1100−

1050−

1000−

950−

us
l_

co
il6

usl_coil6:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

2000

4000

6000

8000

10000

12000

14000

16000

18000

us
l_

co
il7

usl_coil7:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}



76717671.576727672.576737673.576747674.57675
cyclenum

31800−

31600−

31400−

31200−

31000−

30800−

30600−

us
r_

co
il1

usr_coil1:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

6200−

6150−

6100−

6050−

6000−u
sr

_c
oi

l3

usr_coil3:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

500

1000

1500

2000

2500

3000

3500

4000

us
r_

co
il4

usr_coil4:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

250−

200−

150−

100−

50−

0

50

100

us
r_

co
il6

usr_coil6:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

2000

4000

6000

8000

10000

12000

14000

16000

18000

us
r_

co
il7

usr_coil7:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}



76717671.576727672.576737673.576747674.57675
cyclenum

439.5−

439−

438.5−

438−

437.5−

437−

436.5−

436−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

74.6−

74.4−

74.2−

74−

73.8−

73.6−

73.4−

73.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

5

10

15

20

25

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

526−

525.5−

525−

524.5−

524−

523.5−

523−

522.5−

522−

521.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

102−

101.8−

101.6−

101.4−

101.2−

101−

100.8−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

5

10

15

20

25

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7007}



76717671.576727672.576737673.576747674.57675
cyclenum

0

20

40

60

80

100

120

140

160

180

4a
Y

_c
oi

l4
4aY_coil4:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

55.1

55.15

55.2

55.25

55.3

55.35

55.4

55.45

55.5

55.55

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

12−

10−

8−

6−

4−

2−

0

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

0

20

40

60

80

100

120

140

160

180

200

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

11.8−

11.7−

11.6−

11.5−

11.4−

11.3−

11.2−

11.1−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

10−

8−

6−

4−

2−

0

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7007}



76717671.576727672.576737673.576747674.57675
cyclenum

246−

244−

242−

240−

238−

236−

234−

232−

230−

228−

12
X

_c
oi

l1
12X_coil1:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

86−

85.5−

85−

84.5−

84−

83.5−

83−

82.5−

82−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

15−

10−

5−

0

5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

4

5

6

7

8

912
X

_c
oi

l6

12X_coil6:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

450−

400−

350−

300−

250−

200−

150−

100−

50−

0

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7007}

76717671.576727672.576737673.576747674.57675
cyclenum

7005

7005.5

7006

7006.5

7007

7007.5

7008

7008.5

7009

ru
n

run:cyclenum {run == 7007}
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